Fake rate vs P, | Duplicates Rate vs P, Pileup rate vs P,
+~ 0.8 - - 1»—0.01 - - - +0.0] -

o
$.009 9.009
D
.008

o)
.008
n
10.007
T

0.7F

- o

: . : : $.007
OB ppir P P .006

...........................................

0.6

Takerate vs p

3.006
H H N =] H H H
0.4F1{1-- PRRRRRRRRS TRPPPRRRE: e 20.005F -+ [ EERPPTTIRRS TRPPPRRRE: e 0.005
0.004

---------- 0.004
0.003

---------- 0.003
s ; : : 0.002 : : :

0.002
i R T P 0.001
.

0.001
SRR Y il-.... TR
. il ] o

0.3

..............................................

0.2

Ratio
Ratio
Ratio

-4+ H 4 e 0_5:_ .......... P e s 0.5F

0088 ; E ; ; ;
_ 3 — 3 —:
107 10 tra%fgzpT (Ge\}P 10 1 10 tra%Esz (Ge\})O 10"

UéIVI tharPU_mMKFT_5iter

DOM”ttbarPU_mkFit_5iter_updatedPR111 update .
DQM"ttbarPU”mkFit—5iter_updatedPR111"update fixPropagation

T TR P EE (EEEETEE CCEETEE —0.0%
: : : : : 009

.008]
.007
13 IS SO SRR SRS SO S 006
A %.005
19 0 O S o0s
] o
1T) ST S FO: O JONE 0.002

AR
b L ..":Hﬂj'.ﬂ'.... q_'

I

: : : : : — 0.0
. . . . . )
------ .009
: : : : : o
------ .008
H H H H H o
------ P den b 007
. . . . . S
------ 3.006
------ e
------ el 0008
------ il 0003
: : : : ' 0.002
0.001}

R R s

takerate vs

ugjicates Fateys

sl

Ratio
Ratio
Ratio

Fake rate vs phi [Duplicates Rate vs @] Pileup rate vs ¢

o 0.1z " " " " " - o 0.01 " " " " " - = 0.0 " " " " " -
SN <SSNOS SO U B UUUOOL TOUOUON SUUPPRE1 NN S - O O SOUUUON SUUOURE FOUOPRN SUOPRNE] NN VN - SN SO SORUOUN SOUOUOL TOUOOON SUOOORE
2009 ; 0% g F : 5 E : : :
©0.08F - S S SR e % 00sf: 2100 SNSRI SO S P SO
X E: : a 3 g E : : : : : :
S0.07E- R B AR R R %.007. D.007F----- RARREA AR AARRLRAEERRREEE
. : o . > E : : : : N N
0.0Bfr----- e i of oo 2.006F D006 -+ e TTRRPS PETTRR
0.0 e refie oo edee oo .005 0,005+ +deeeeefereenden b
004 |t o L0 e e R
oot -H -l oo e S e
0.028 - -Hat i1t b1 0.002F VY0107 SSRRRRSPPP PP SRS AR SN
i : : +T4 |4 ! E : : : : : :
0.0 -k 4F--o-ieo -t 1 0.001 0.001F -+ -eo--- froeened et
o “,o' ! o . J o QP o q_'"'
I ] T 5 : T 5 : : : : : :
o ; : ] : : ] o [ : : : : : : o [ : : : : : :
£y e o i o e 0 8 O R : : 0.5 ==+ -+ e EREEPREY: R SRR 0.5 ------- SRRTTEE EREEPREY: R SRR
0932 1T 0 1 2 3 3=z 1 0 1 2z 3 3= 1T 0 1 2 3

track @ track @ track @



	Contents
	Page 1


